NIFASTJT-100

Quick Guide to Product Use Blade replacement steps [Index diagram of chamfering machine components]

.
SN
Turn on the power switch and
start chamfering operation

Besure t 1diswnnect
iheowelsorly
when adjusting the

chamfer s'ze

Loosen the left screw and the two
screws on the disc to rotate the disc T
|0 the desired chamfer size

After fixing the button,

rotate the handle counterclockwise
» to replace the blade
1
!
The blade replacement <&
- | Y
ion
Optional blade specifications operat must cut off n‘l
include 9 bearings, 15 bearings, =
R3/R2 (19 bearings), and blade the power supply J

L replacement methods

i Part number Partname quantity
AR SEAADD uitl eiieE :
the blade when the device is 1
o chamfering machine handle
powered on and rotating Product Name TT100 S Jimachn L
3 bearing seat 1
chamfer type C-angle/R-angle TR RiA 735
Cutting direction: the outer chamfer of the workpiece advances counterclockwise, and the inner chamfer Chan it 0-3mm (C-angle)/ 4 Ul L S 4
amfering si fe di
of the workpiece advances clockwise (note taking: outer K inner clock - R2,R3 (Rangle) 5 - Knife disc 1
— — S e Maximum speed 12000r/min st 6 adjustment and.cap 1
power 710W 7 Blade SDMWO09T304 2
l Voltage 220V-50Hz 8 disc 1
chamtecen! | G ibeanings)z 10mm |[1] 9 Tightening screw M4 * 8 2
amfere: i
aperture (15 bearings) 2 16mm [] 10 Round cup screw M5 * 8 1
(19 bearings) > 20mm [] -
(9 bearings) = 2mm  [J 11 Deep groove bearing 698ZZ 1
l Cha‘rr:\ii:kr::s;;late (15 bearings) = 5mm [ 12 Plum blossom screw M4 * 10 2
(19 bearings) > 5mm [] 13 Cylindrical screw M4 * 8 1
Blind hole (9 bearings) 2 8mm [ 14 Deep groove bearing 6804ZZ 2
depth (15 bearings) > 10mm []
l (19 bearings) > 12mm [] 15 Plum wrench T16 1
Net weight 2.5 kilograms 16 Internal hexagonal wrench 2.5mm 1
Gross weight 2.7 kilograms 17 Internal hexagonal wrench 3mm 1
18 instructions -’ 1




